
HW6-8 Soln) 
  
By moving it very slowly, we can ignore any KE effects (KE stays about zero).  
 
WN = 0 (normal force is perpendicular to the path) 
Wg - cons 
WSP – cons 
Wfk = FfK d cos180o  
 Find the frictional force: 
 FfK =FN 

Find the normal force with NII: 
  FN – mg = may = 0   →   FN = gm 
 FfK =gm 
WfK =gm d cos180o =gmd 
WH = ? ← 
 
WHgmd = 1/2mvf

2 - 1/2mvi
2 + 1/2kXf

2 - 1/2kXi
2 + mgyf - mgyi  

      vf = vi = 0                          relaxed    yf = yi = 0 
 
WHgmd + 1/2kXf

2 = 0.7(10)13(0.2) + ½(300)(0.22) = 24.2 J 


